2.{. VJuqbhh, hwubjhh, mupppnpju,
pwiunpnh npnonudp (dp pwith puyndy)

Ephhoaugh hlyp qpunynnhb

1. bphjuwlbipp 78 untlly hwywpbighl: 18-p tthtghl, puly Juwgwop™ 15-wlwl
pwllwlbpp (gptight: Pwlp pwlw oquwqnpoykg:

i Muwunytinpugpnt” dhlp tlp wyn tptfuwGbpp: Canwitbn 78 untGy tp, nphg 18-p hlhh"-"";
ghlp, mptuG 60-n uGug (78 - 18 = 60): Ujn uGugwo 60-p pwlGlwbbpd tlp 1ghind” wuwhtine:
Uukl pwGyuwjh gt 15 unGy tbp 1glnud: 15 wnwohbh vk, 15 tpypnpnh dhg...: Mwwnlyb-
f pugpm 15, 15 ... tGp npti: Lwih® puGywgh uniGy Y, wyuhGpG pwGh® 15 unGy fu: Wy
Ytinw' 60-h dte pwGh® 15 Yu: 4, npnyhtinle 60 : 15 = 4:

2. Uwllwwwpubq 4 wwpl wynip pipbghl, wdbb wywpynd® 15 Yq: 49 Yq-
ny fudnplinti pfutighti: Fugpuili wpnip duwg:

Q1 nt bu Jwljuwwywpnbtgqnid Gip wuwwnnud: 4 wupy wynp Glp unwgby, b wikl
wuwnpymd 15 Yq E: QiptdG pwGh® Yq wygnp Gap vnwgtiy: 4 hwwn 15 4g-n 60 Yq k(4 x 15 = 60):
Ujn 60 Yg-hg 49-n owfuutighlp’ wynipp 49 Yg-ny yujwutg b 11 Yq pupduy (60 —49 = 11):

Uph dbq unnighilip: Gpt 49 4q wynip dwjuuty tlp ni 11 Yq dGwgty b, niptdl ulqpnid
nGtghy tlp W wjyn 49 Yg-n, W 11Y4g-p, wjuhlpl 49 + 11 =60 (4q): Utlp wjn wyynipp hwjw-
uwpwybu [gyuwo 4 yunytpny Gap vnwgt: 60 Yg-n 4 hwjwuwnp dwutipny thGp unwgt,
nipbiG wikG dkyp 60 : 4 =15 (Yq) En" wikG wwnyp 15 Yq tp Ypnnd: luGnpnud htlg wynutu

_Ep, mpbidG dtlp fuGnhpp dhow Lip (niot:




WLrp plnpr jndtof

“3 owppnid 9-wjwl dwpn b Guuwo, hul] dGugwo puppbpmd’ 8-wjwl
dwpn: 5 pwuppnid pwGh® dwpn E Gunwo:
2rudfp e yuspuuafuudtind] Jley wpnighn:
wtlereeneemeg g3 npeeiag

Rqus bwdurlnipimbd

(6pti juGnhpGhpp nothu ndwpwlwu, yipund nogwo fulnhpGephG Gu-
Jhn: Gupnu, nipwnhp dtnwohp nt fulinghpp hwumwn Ynuotu:)

1. Gptip nuwuwpwGtphg jmpuwpwsjniphg 6 Gwpn dpgniGhph qGwg: Lpwa-
ghg 5-p UpguwlGwl unmwguG: LwGh® dwpn dpgululy sunwguy:

2. Gpp dbtp funhwpwpp yupundhih yupyphg 4 wiqud 3-wlwb 4 oquaw-
qnpotig, wylGntn 2 Yq Jupundph dGug: Mwpynd hGspw®d Jupundhy
Jup:

3. Gpp 7 niqunp JuGqunnid howy, wywmnpniuntd Gpulghg 3 wiqud wykih
ninunp WGwg: Uygpnid wjmnpniuntd pwGh® ninlunp up:

&. Gpp 8 Jugnpn dpgmuiltphg nnipu dGwg, Gpulghg 3 wiquy wykjh dwpn
2wpniGuynid kp dpgl: Uygpnid dpgnidGephG pwGh® Jugnpn Ep dwuGuy-
gnuu:

9. Gpp mwwnhg 6-hnpwing nniyny tptp wlqud 9nip hwGtghG, wjGwntin
12 ( ¥Gwug: Smywunmy hGspw”®G 9nip Jup:

6. GphluwGtpl pptlGg unmwgwd Jupnmlgh ptppp 5 quuipymnh 8ty 1gnhd,
wdtl qudpnimmh Uk 6 Yq: 28 Yq quipymnbhpmd snbnuynpytg: LwGh®
Yhingpud Juipnilq fup:

4. GphhuwGtphG wmbwnptp pudwibinig htnn dwyphyh dnn 2 ntup dGwug,
uljqpmd tnuohg 3 wlquwy phy: GphluwltphG pwGh® mbunp pwdwibg:




. “Fypngh pnibtinG 9 wpyn plugwop unwgwy: Gpynt op htiimn pmptnnid

1.

12.

13.

14.

8 q pfudwop dGwg: Gpynt opmd pwGh® Yhingpwd pluwop JudwntghG,
tipti witl wpynnid 2 Yq pluduop Jup:

. UputiGh pwthwo dwwmhwbbpn

dwjphlihu htim 5 wmnuhh b9 v ol

nuuwynptighGp, wikl wnihh ;\ 2 \)z\;%%
Uk9' 12 twwnhw: 8 Ywwnhw nnt- v AN ;}j@"%& _
thtiph Wby swbknuignpytig: Upubi- 7 ‘;5 S
(n pwGh” dwwnhw Ep putht: o fis

UwynpunwjhlG  fuwlnpnd 60
qlnuly Yuwp: “pwlg dh dwup 3.
5 guligh dt9 1gphG, witl gwG- — S

gh k9" 7 qlinwy: Swlighg nipu -

pwGh” qGnuy WGwg:

ChGwpwpGtpd wywqulhg

snpu 30 [~wling mwjunny 9nip

ytipgnhG, nphg htimn wjwquind 15 1 gnip dwg: UJuqubnid uyqpnid
pwGh” hwp 9nip Gup:

Qpnpuwlhy Giphu hwjwpwoniG 3 wpnih k9 nuuwynpbinig htivn 24-p
nnipu WGwghG (sYunpnnquguw wtnuynpty): Qwjwpwonthu it pwGh® npny-
dwhp Yup, tpt wdkG wypnind 70 nonpdwGh) tp mbnuynpyby:
CaytpGhphu htin Yalnuiwpwiwywb wignd qpnulbihu 240 ngpwd dwfu-
ubigh, U hGd dnwnn npulhg 3 wiqud wykih thnn WGwg: hGéd htinn hGypw®a
thnn Eh Jhlnuluwpwlwlwb wigh mwpb:

17 4 ntughlb junnnyuwyhg 4 sShwGdwb Yunp Yuptghlnt Ejh 5 ¥ dGwg: Udka
Junpp pwGh® St En:



2.9. epyne wpmnunpyujuph gnedwph npnonudp

Gpbjuwgh hbap qpunynyhli

1. Uyqnud 5 2wpp Ytinwubuh Yu (wdbb swppnud® 8 swn) U 4 swpp fubdnptip
(wdbl swppnud® 5 swn): Yqnud pwlp’ swn Yu:

- Wyqnud pupptipny YenwublGhGtp b fuGdnptGhGtp GG mGywo (;qhnbtlp, pt nph'g hG 2---~
pw’G): UtnwubkGhGhph wikl pwuppnid 8 own Yuw, niptdl 5 wnwhuh pwuppnd YihGh 5 wa-
quu Juwn’ 5 x 8 =40 (dwn):

huGanptGhGtpn 4 Jwppny 6 mGYYwo, wikl puppnd’ 5 own: UdkG puppnid 5 own k,
niptdl 4 pwuppnid’ 4 wynpwl, wyuhlpl' 4 wliquy wykih 4 x 5 =20 (own):
Ujgnud fuGdnptlGhGtpp 20-6G GG, huy YnwutGhGtpp' 40-p, niptdl wjgmd plnwitip

.20 +40 = 60 own uw:

..............................................................................................................

‘LlwnhG Guytnyg

hwpyhp’ pungpu-

ytGhpp pwGh’ Y-
ngpwy t:

w4y TSl




ﬂUﬁﬁwﬁ 3 gphy m 6 mbinp qltg: Uh gphsp 40 npuid wipdtin, hul dh mtinpn
30 npud: UGGwG pwGh® npud yGwntig:

2rudfp e yuspuuafuudind] Jley wpnighn:
et 300 Wy

Rqus bwdurlnipimbd

(6pti fuGnhpGtpp nothu ndwpwlwu, Yipund nogwo fulnhpGephG Gu-
Jhn: Gupnu, nipwnhp dwwohp nt fulinghpp hwumwn Ynotu:)

1. CGutpGhpu ne bu 3 pwpp fuGanptiGh wmaytghlGp (WdkG Jwppmy’ 5 own),

hul tnpwypu nmt hp pGytpGtpp” 2 pwpp (wdkl pwppnmd” 8 fuGdnptlh)
wGytghG: Annpu shwupG pwGh® dwn wnGytghGp:

2. Quypngny 3 wyunpnuny b 4 Swpquuwp StphGwGtpnyg Epulmpuhw
qlwghlp: Uikl wymnpniuh db9 15 dwpn tp Gunbi, hul wdkl dbphlwjh
uti9’ 5 dwpn: Lwlh” dwpn Ep Epuynipuhw qGugty:

3. Utip wjgnt fuGénph ptippp 3 wpynh db9 hwjuuwp (wdkl wpynmd' 14 4q)
19nhGp, huy dGwgwop' 5 mnuypwyh vt (wikl dtynd” 4 4q): Canuikin
pwlh® Yhngpwd juGénp EhGp hwjwpt:

4. Gpp dwwnhwGbpu 7 wnuhh U9 hwjwptgh (wdkl wnuhnd® 20-p), dGw-
gwon 2 thnpp mnwypwlh dte (wdkG dtymd’ 12-p) mbnuynpytg: LwGh”
dwwnhwn niGbh:

9. Quldwlwyhu 10-npuwiwbnglGtpp 4
unithh U9 wmbtnuynpytighG (wikl db-
ynud’ 10 hww), huly 20-npuwiwbngGtipp’ 1
unithh dt9 (20 hww): Gwnpn®n tu hwpyty
quldwlwlhu dk9 hGspw’G thnn Ep hw-
Yuwpyti:

6. JhGp-Onifup Gop Stnpp 15 pwlGlugh dhe
wmbtnuynpbg (wiklG dtynd” 4 4q), huly
UlGwgwon' 2 pwlywyny (wikl dtynud 3




1.

é

12.

13.

14.

14q) HGshyhG mytg: YhGh-Onifup pwlh® Yhngpwy Gnp dtnp Ep unwghg:
Qunwl hwdwp dpipJuo Jupunphip 10 wpynh db9 hwjwuwnp  (witka
wnpynnud® 15 4q) 1gnhGp, huy dGugwop” 2 ywwnyh vk (wikl yqupynd® 12
4q): Clnuitilp pwlh® Yhngpud Yupnndhy Ehlp dptipt:

. Uwljwunwb GphjuwGtph hwiwnp dtp hwjwpwo qpptipp 7 wpynh dby

nuuwynpbnig htimn (Wit wpynnui® 30 ghpp) WGwgwo qpplipp 2 mny-
pwyh dto nptighGp (wikG dtynmd” 6 ghpp): LwGh® ghpp thGp hwjwpt:
MuwuhYhu 80-wijwyhG vklp tpynt shypnwywumnpniuny b 3 dwpnpuumwnp
utiptiwGtpny pwnuwphg npnipu qGughbp: Uikl dhypnwywmnpniund 12
dwpn Jup Gunwo, hul wdkG dkptGugh b9 5 dwpn: Gpt Jupn®n tu, hw)-
yhp' pwh’ hngny G2tghlp yuwwhyhu 80-wijwyp:

Lwy Lwqunl hp vywlwo dwddtpp qintighy wnuhtph WG9 nuuwynpbg
dwpnyulg dnn gnifup gnytiynt hwdwnp: 25 o wmnithh vt dto dwGdtpn
nntig (wikl dtimd’ 20 dwGd), huy 20 thnpp wminithh uk9” thnpptipp (wikG
dtiymd’ 25 hww): Lwe Lwqupp pwGh® Gwld Ep vyl

Gpunupwbh hwdwn qGwo qgpplipp yuwngGtpny nupng mwpwlp: Gnppt-
nh 11 uwngGtinhg wikl dkynd 13 ghpp tp, huy WGwgwo 5 juwngGtphg
wdtl dkymd’ 10: dypng pwlh® ghpp mwpuwp:

3 wdumnpniuny U 6 dwpnuwumwn dkptGwyny gpnuw)nohlGtin UwwnbGwnuw-
pw GywG: Uikl wyunnpniuh db9 25 dwpn Ep Gunty, huly wdtG dtptlwjh
k9" 5 dwpn: LwGh® Jwpn tp UwnbGunupwl Epunipuhw Gt
Swipptip tpypGtph thnntiph hwjwpwoniu 10 nupuwyh Wb nuuwynpbgh
(Jnipupwlygynipnid’ 35 hwwn), hul wytjugwo 13-p° thnpp jwpk mnupwyh
uk9: Lwjwpwonthu Wk9 pwGh® thnn u:

Gpuwuwlniphg vtip qGwop yuungGtpny nupng mwpwlp: Gpptiph 15 Ju-
wngGtinhg wdtG dvtynmuy 30 ghpp tp, hul mbtnptph 5 yuwngltphg witl
dbiymd’ 100 mtinp: Lwlh® ghpp b wmbtinp EhGp qGby:

. Ujuon 5 4q yupnilq b 4 hwg qlitgh: Uh Y§q JupniGgp 400 npud wpdtp,

huy dh hwgp' 120 npuid: hGspw®G thnn dwjuubgh:





